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20% of 600 is : Pe 20% K 600 1,4
(A) 12 (B) 120 (C) 20 (D) 200 1)
Ina Rato a: b,"b "is called : cpE vt el fatb=2 (2
(A) Extreme JW (B) Antecedent _*.-'«Ju'(?'l (C) Mean ks (D) Consequent Ju3yS U5
Zakat is deducted at the rate of : : ‘aanc.(,;‘f 8:”/ J 73 (3)

(A) 2:5% (B) 3-5% (C) 4:5% (D) 5+5 %
D o k( U JJK}‘/:? J 2Usl sl u’rc_..?) J wb Lol Jretlns ¥oi (4)

The Share of Widow in the Absence of a Child or Agnatic Grand Child is :
1

a + ® + © + O &

Profit is earned when : D Neted 8 (5)
(A) SP >CP wdjod 5 4i=d (B) SP < CP wdjud <uiod
(C) SP = CP whjed = yied (D) SP = MP wadjod = odpuges
et v Bl qertind S¥ L B2 VU & (6
An Instrument for payment order issued by a Bankon the request of its customer is called :
(A) Bill of Exchange el sl )y (B) Cheque G (C) Bank Draft &/t (D) Pay Order Jb/Te
aadﬂp(q. J\q-JMf../k/{ut.wu' ;bléeuuf.fu JU’/[G&/U&G,&TY{\’JU (7)

Money that must be paid to the State charged as proportion of Income and profit added to the

cost of some goods and services is called

(A) Income Tax K353 (B) Tax S (C) Excise Duty dﬂ/l;f (D) Property Tax Jgiéb
(3 iscalled: (A) An Integer 14 o (B) Natural Number wdu’ R W3 (8
(C) Irrational Number mu""l:ﬁf" (D) Rational Number Pt

we S £L.bw&ruffz()’£wgfr )

In the Logarithm of a Number the Integral Part is called
(A) Mantissa lukine (B) Characteristic ~+b (C) Decimal Part .2y /21 (D) Real Part /(}"’

What is the Third Term of a = n+3 : D el phgms U ay = n +3] (10)
A) o (B) 3 (O 6 (D) 9
AM. between V3 and 373 is: D el bt 33 V3 (11)
a 23 ® 503 © 93 @ a3
If A and B are two Non- Empty Sets, then AUB= ? : tAUB =2JUnir nBul A A (12)
(A) ANB (B BNA (O ¢ (D) BUA
(AUB)S =7 () ASUBS (B A°n B¢ (© (AnB)° (D) & : (AUB)® =2 (13)

The Coordinates of Origin are : g Lnahe £l (14)
(a) (o0,0) (B (0,1) (O (1,0) (D) (1,1) )
:.;_eM,?z_t,y’ri’;ﬂﬂJJui/;ﬂ‘é/o’-;’uﬂ’Jﬁmf’ﬁ (15)

If all numbers in a Set are added together and then the total is divided by the number of

scores in the set is called :
(A) Mode ok (B) Median ks (C) Mean bl (D) Weighted Mean  b-i(Lsl
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36 =2x18 | Make diagram where necessary. -/’ k" P ulz (Part I) ko -
Express the given Decimal as Percentage.  1.72 S S e éé.) () 24

¢ el AU B Jun vk us 82 % S )
If 82 % of the houses have a Television , what percentage do not have ?
Simplify the Ratio 8 : 2 in the Simplest Form. -é‘.fdu.‘.'g,p Q’]c}l/Tf 8:2 c:»—’ (i)
_é()!“a‘gjuyuf_u@)éé_u 72 /- Jf L &2 6/- 7 (iv)
Find the Ratio of 6 Rupees each 72/- Rupees per dozen.
Calculate the amount of Zakat on an amount of Rs.5,00,000/- _’afgr)"" 35 4 f: J &3 5,00,000/- (v)

Define Usher. -é_gf’ g i)
Differentiate between Profit and Loss. S OMY ol 8’ (vii)

ol = 2760)- &s € o = 5% £ Eeaspod i

Find the Selling Price when MP = Rs. 2760/- , Discount = 5 %

_ér,‘?‘ o #438} e L1 Coared § AP 15 wds ) e ¢ S 12 (ix)
The Selling Price of 12 Articles is equal to the Cost Price of 15 Articles, find Profit Percentage.

P LA I g 388/ Bl & LI12 { Lo 60/ S Gy 30

If the Simple Profit on Rs, 640 /- for ‘12 years is Rs.384 /- find the rate of Profit.
Define Mark Up. -éd/’ J .rl..fl. (ii)

(49112 4088/= 24 1) - ESw U sig f o &1 5,00,000/- Gii
Convert 5,00,000/- Pak Rupees to Euro. (1 Euro = Rs. 112 « 4088/- )

?Jn&/ 7] f:dg( gf s Ll;Lgf’u‘{)Lf m -1/ 18000/- é«é@/}{d“{)&ﬁ.f.ﬂg&ggfg}: 16 % {U?.’OE (iv)
A Sales Tax of 16 % is imposed on Television. If the Marked Price of the television is
Rs.18000/-, calculate the total amount one has to pay if he wants to purchase it.

Define Direct Tax. -é.ﬂ/" J uﬂ sl (v)

-éf)ﬂfa’:ubc,c/& 15 % ;ML;/ 6,00,000/- J4Tolle 28 L1 N (vi)
If the Annual Value of a Flat is Rs.6,00,000/- then find the Tax Payable at a rate of 15 %.

Simplify and write your 0+96 x 107 . ,4!0"[: f.”}g"v..,l 2 sl 25 /a'f (vii)
answer in Scientific Notation. 4 : *
2x10
Solve. 2 log 5 + log 8- —;— log 4 - (i)
Solve logs(x+1)=2 -Z}-fd'flogs(x +1)= 2 (ix)
Write Ist Three Terms of 3 = '—er -é-“—’d ,";/ o df‘{ § 2 = —3—117 (@) 4 U
3

Find the AM. between -3,7 S g% £ -3, 7 i)

Find the G.M. between -2 and -8. ' “ZE b Pl -8 - 2 G
Define Intersection of Sets. -éu[;s B ¥ Ui (iv)

AxB=? 3Aa={3,56},B={1,3} S
¥ A={3,56},B={1,3} then A x B = ?

Define Cartesian Plane. -2{4/7 § UK i)
Represent the point H(5,0) on Graph Paper. ..’cf.".:/:u; 44.&}1/ S H (5,0) 5 i
Define Arithmetic Mean. ' é_ﬂ/? J Ll i
Find the Mode of given Data. 6,2,4,3,4,5,4,5 -:‘fp““ 23l & sly :fc; (lx)
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8 Persons can do a job in 24 days, if 4 more persons joined them, how much
time they will take to complete the same job?
J."Lubﬂc.u:{;.u 20,00,000/- it iune i e 1l o bgég.lé,f..g A
g
The Inherited Property amounting to Rs.20,00,000/- is left by a deceased.
He left behind a widow and two sons. Work out the share of each.
it I et fpe it S o tnid s OGAT nudr0es bt d Sl s Ay
N7
If there is 10 % discount on Marked Price of a television and still makes a
profit of 5% if it sold in marked price what is profit percentage ?
S 850 g solgcd one & 680/ A fond” (O
At what annual rate of a profit, would /a sum of Rs.680/- will increase to

Rs. 850/- in 3 years and 4 months.
-Z;r:h’:albytcf:fg(gﬂ; nggb’{q‘%.u 200/- ;Jfl..c"_t‘/(ﬁw 6uszAe (i 7/&),,,
Khalid works 6 day week. Find his Gross Monthly Wage’if his rate of Pay
is Rs.200/- per day.
Use Logarithm to Evaluate. -éd’ & 4 d’ J;,‘g(a{b’)’ (W)
8:67 x 3-9%4
1.78

Find the nth term of an A.P. where e é‘»}v (: Jon J 07 (L) 8 /.'U.,,

an_s 3n + 9

-zgdgnuét;/;,u: XxYm Y=14{248} 4 x={0,3,5} S
If X = {0,3,5 } and Y = { 2,4,8 }then establish any four Binary

Relations in X x Y.

Draw Graph of y = x +7 -‘..='i7-3‘/f(y=x+7(._,w) o A1y
'z:r,"‘“}.&£1121314/6,8,11J’Y‘ (hf)

Find Variance for Data 1,2,3,4,6,8,11
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U.?'i’( d'al 'at Lorb atbiietd =2 140y
In Proportion a i b i ¢! d,'a'and 'd’' are called : )
(A) Extremes ¢/ (B) Means u.‘h’: (C) Antecedent & ‘dd' | (D) Consequent 112

% in terms of Percentageis : (A) 35% (B) 35 (O 20 O 25% PRy Je J 4 _210 @)

: ﬁ:.C;JB;(J/“{JJJrJ@:Kc.gUJJW 3)

On a Crop produced on Artificial Resources, Ushr is deducted at the rate of
(A 10% (B) 5% (C) 2.5% (D) 25%
Profit is earned when : c A Lt’byﬂ}‘ bcﬂ @)
(A) CP=SP si=d = 23pcd (B) SP < CP edjed < piod
(C) SP > CP w=dijed > vyl (D) None of these u.‘."dfa.u.‘fuf
'aaﬂf/a-ﬁﬁf.—ff r.j)ﬁﬁd-‘-‘/éréﬁgﬂu@ (5)

A Machine installed by the Bank ‘to dispense cashto Customer is called :

(A) Computer ),:/ (B) Scanner /‘ (C) Card Reader .i.46 (D) ATM £l d—-&'

Taxes of the form of Duties, Motor Vehicle Taxes are called :: (Jt Jf O Y gf’ J R Abe . « a3 Jg,f> 6)
(A) Indirect Tax ﬂ»u; (B) Direct Tax (J==lnl4” (C) Property Tax Jg)b_ﬁb (D) Income Tax .53 o5l

JZ +{3 is not a Radical because 2 +{3 isa: : »-Qq- 2 +Hf[§_uﬁ‘5y.g ,’Z+ﬁ' )

(A) Rational Number wJ"t (B) Irrational Number wJ"t/,-f (C) Integer mg (D) Radical .e

3J7 is called: (A) Radicand 213 (B) Radical’ .ir Ut %'."_( s £ 37 @8
(C) Rational Number .7t (D) Integer R
Third Term of a =n +3is: (A) 4 (B) 3 (C)6 (D) 2 (“& ,lf f:dﬁ: J a, =n+3 9)

G.M. between -3 and -12 is : : q_krlwlt}/ s £ -12 -3 (10)
(A) t9 (B) 6 (O %36 (D) +3
L 23 R=2M: R= {(4,5),(5,4),(5,6),(6,4)} I (1)

¥ R={(4,5),(5,4),(5,6),(6,4)} then Domain of R is :
A {46} @ {45} © {456} m {56}
If y=23x for x =2, we have y =7 : ry=? J 50 x=2 Ly=3x I 12
A 5 @B 3 (O 8 (D) 6
:q.b(cﬂ;fgff(x)?xw:ﬁ.g x.?.f(x)=—g—’4sx_<.12 13)

f(x)—__, 4 < x <12 where x is a multiple of 2.The Domain of f(x)is :
) {4,6,8,10} ) {6,810} {2,3,4,56} D {2,3,4}
$(xi - X) = 0 is one of the properties of : g q.t‘lgtf«.x.‘lvf Z(xi-X) = 0] (19

(A) Geometric Mean b-si(} ~ (B) Harmonic Mean bl £y, (C)Mode sk (D) Arithmetic Mean  L-sidL>

= Xq + Xy * Xg Fomm X is called : ; {—Wfff - Xt Xgt Xzt ——tx . (15)
n n
(A) Arithmetic Mean bsijl> (B) Geometric Mean b~l(/
(C) Weighted Mean b~ dust (D) Meanvalue of X , Xy, Xg = X, b~ ¥ Xy s Xg Xg ===, X
--------- D )z,
[/
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Note: It is compulsory to attempt (6 —6) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
. from Part II. Write same Question No. and its Part No. as given in the question paper.

36 =2x18 Make diagram where necessary. -u:’b.u"g}exduﬁuk?. ( Part 1) t)"-" P)Np‘ 2 ~23

Define Percentage. Ay S 4 G 2400
‘ Rs.150/-, Rs.275/- ZE el b Pl le sigem § aadé )
Find the Ratio of First Quantity to the Second in its Lowest Form Rs.150/-, Rs.275/-
-.é—bzu-‘-ﬂéék"(d‘;ﬂ&:‘ﬂé,—ugZO/){ - LT S &9I720)-4 b 2 LI S WG iy
A Table costs a Carpenter Rs.720/-to make. He sells it for Rs.920/- what is percentage
of the profit.
Define Zakat. -’-":4/.'. J 345 (@iv)
. 3l g2 1110,000/- <Ay A )
Calculate Zakat on gold amounting to Rs.11,10,000/-
(2§ o ._,_z"-w,;.géluyLw.&wﬁm.{:éyLw-gﬁ,ﬁ;:uz,:é.w,oo,oow- it i)
Najeeb left a wealth amounting to Rs.4,00,000/-. He left behind a widow , while they -’cf.:
did not have any child. Find the share of Najeeb's Widow.
Define Profit. -éue’/’? J 8’ (vii)
&30 950/ = gied « 10% = g ¢ 25(:“’&;}:,2 i)
Find the Sale Price when CP = Rs.950/~ -, Profit = 10 %
& 728 /- = ».‘vfnﬁbu ¢ 6% = &4 ,6 &f;rj"&:/&g (ix)
Find the Selling Price when MP = Rs.728/- ;Discount = 6 %
/31297968 = doub Bpksy LS oAL S S N 250 ) 340w
Convert 250 US Dollar into Pound when Pound Sterling) Rate = 129. 7968 Dollar.
ton o 3, L B s 7 e LS 5% L Lzade S Gy
What Sum would borrow in Rs.174 /- as Mark Up at'5 % in 4 years ?

What is meant by Income Tax? s a3/4 b3/5 ?q.;!/g & ug,ﬁ (iii)
implifv. —— oL & (iv)
Shplicy 20 215 p1/4 &5

_g‘b:(.’ o2 o E R He e 2 6400 U1 ¥ 5 )

The Radius of Earth is 6400 Km. Convert it into meters and write the solution in Scientific Notation.

Define Common Logarithm. sy ﬂf:’u’ ¥ (vi)
Find G.M. between 2x* and 8y4. -Zgr:h‘ LAL}/" s £ 8y4 P {vii)
Find A.M. between 7 and -3. 1 -ép‘“ bG%len £ -3 11 7 i)
2) . (4 2 (v
Evaluate. ( 5 ) < (25) x 625 ~’-(/‘;
If a, =n + 3, then find a; and a,. -ér‘)k’ a, 2 ay i A= n+3 /' [0 4ﬁ'Ulr

_2’5()&"' butadyunbs3f 16,3 0]} L buala )7 (ii)

If 3 and 6 are two A.Ms between a and b, find a and b.
Define Intersection of Sets. ; -i.gj‘" J d’ B Ly i)
-Ef.:rr)l"AUB M B= { a,e,i,o,u } »sA = { a,b,c} fl(iv)

If A= { a,b,c } and B = { a,e,i,o,u } then find AUB.

f C={1,2} then find Cx C. e cxcme= {12} S
Define Ordered Pair, ‘é._y/'" d/ IR (Vi)
Represent the point A (-3,7) on Graph Paper. -é/‘-lg {4.9..5'; e A(-3,7) B wii)
Write two properties of Arithmetic Mean. -’cf.:{/" :a.b}" » J lw'QP (vii)

.........................
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A factory makes 600 suits in 9 days with the help of 20 machines. How many
suits can be made in 12 days with the help of 18 machines?
23 SSsy o e 10000 A SLr Bl d w5 ¢ Grpd7 40 4 107 10 (O
@ 137 3¢s 5000/-
Calculate the amount of Zakat on 10 Tola Gold and 40 Tola Silver, if the rate
of Gold is Rs.40,000/- per tola and the rate of Silver is Rs.5000/- per tola.
@) Sheifolie o A L IS 21317 LWL 67200 SOIE £ Sl (0 6
Three Members of a firm distribute the profit Rs.67,200/- among themselves

in the ratio 2:3:7.What is the biggest share of the profit?

L 5-FLLUSe AL f2 % SIS AIESLE s 7500000 &L ()
“ -t 2010 % z,;Ju(';:.:,zﬁérPﬁ A
Raheel insured his house worth’Rs.75,00,000/- @2 % for 5 years. Calculate the

amount paid in 5 years, while the/rate of depreciation is 10 % yearly.

e UF S 4445 Ine R Se101,50,000/- Ut sl sdss 7,00,000/ - QA AL S on 140w
) S fof &

If the total income of a person is Rs.7,00,000/- with. exempted amount of

Rs.1,50,000/- find the tax chargeable @ 4-5 %.

(4) Solve with the help of Logarithm. ES e J (3‘:’ i)
867 x 394 .
1.78
@) e b %E e £19 5111 (1) 80y

Find Three A.Ms between 11 and 19.
@ B={689}ma={46} . U={4,68,9,10} S
(AUB)S = ASQ B¢ S sk £ o2 £ JUSS 7
if U={4,6,8,9,10},A=1{4,6}and B= {6,891}
then verify DeMorgan's Law if (AUB)® = A°A BS

(4) Draw the Graph of y = % _2‘5;'{}!," Ky= % (N 9/.;1)"’
C)) -4.6(6:‘}'5@&‘}:‘;{59‘30%0?‘&:4.& Cﬂﬁﬂﬁfd:ﬁ S Avtitn ()

Represent the given Data using Frequency Polygon. The table shows the

distribution of marks of 30 childrenin a Test.

Marks ~ 10--39|40--49|50--7980-- 99
Frequency 0 | 8 8 10 4
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